| Efficiency vs Dxy |

> 0.2 :
S F
»n 0.18-- b
> .

30.16f {1
o . F :
50,14k

E C
©0.12

o
=

0084
00654+
0.04F

0.025 1+

Ratio

|

0930 ~15

..............................................

.......

ol

-10 -5 10 15 20

TP dxy (cm)

—=— DQM_original_originalvector_1000evt

—e— DQM_original_1000evt

| Efficiency vs Dz | | Z.— poMm fitted4 1000evt

N 0.2
o oF
20.18F
> 4 F :
20.16F
Q0 :
e o .
'EO.14_— ---------
© 5 1oF 5
012__ --------
0.2
0.08F

0.06[ 4

—+— DQM fit_nocpe 1000evt

b SR 1S i - - - - k- - ¢ & - R

093950 -10 0 10 20 _ 30

TP dz (cm)




	Contents
	Page 1


